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David Archer
Note
It's not clear to me, I can't figure out this section.  





David Archer
Note
This is the "long tail", the ~10% that remains in the atmosphere after neutralization by CaCO3.



David Archer
Note
In modern units, about 12 Gton C per year, agrees pretty well with modern estimates.  

David Archer
Note
what horizontal transfer?  

David Archer
Note
advective would be 38000 Gton / 600 yrs = 63 Gton /yr, about a factor of five.  

David Archer
Note
application of the buffer factor.  




















